
x 11

x 11

x 10
570mm        642mm            800mm            622mm

x 10

x 10

T5 TRANSPORTER 2002 -
L1, H1, TWIN DOORSA507

L1, H1, TAILGATEA508

A509 L2, H1, TWIN DOORS

L2, H1, TAILGATE

Max.
150kg

Max.
150kg

Max.
150kg

Max.
150kg

39kg

36kg

45kg

44kg

T5 TRANSPORTER 2002 -

T5 TRANSPORTER 2002 -

T5 TRANSPORTER 2002 -A510

x 10

x 11

570mm        642mm            800mm            622mm

 525mm      642mm             800mm                1022mm

525mm      642mm          800mm              1022mm

x 11

Manufactured by Rhino Products Ltd in the United Kingdom

"T5" 8 Leg Fitting Kit, Aluminium RackT54A_l ( 1 of 6 )



4MS168 x

EXT09-004 x

MS199 x

PS089 x

4

8

PS090 x

PS095 x 4

PS096 x 4

PS082 x

1
1

8

?

(1:1)

FS059 (M8 x 25) x 22 22FN023 (M8) x

FT01 x1

FW001 (M6) x FW008 (M6) x8 8FS001 (M6 x 20) x 8

FB003 (M6) x 16 FW002 (M6) x FN006 (M6) x 1632

FS074 (M8 x 20) x 4

10mm x 1

13mm x 2

=
(FK126) x 1 (ONLY required for vehicles 

with a T-Track roof system)

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 PA89 Plain Cardboard Box, 560 x 140 x 

160, TGS 1

2 EXT09-004 Saddle Extrusion, Aluminium 
Rack 8

3 MS168 MC Leg, Bars / Modular Racks 4
4 MS199 T5 Inner Leg, Bars / Modular 

Racks 4
5 (INRAS21) Customer Instruction Sheet(s) 1
6 PA26 8" x 10" Polythene Bag, 250G 2
7 FW008 M6 Shake Proof Washer 8
8 FW001 M6 st/st A2 std Washer 8
9 PreviewCfg M6 x 20mm A2 Hex Head Screw 8
10 PS082 120 x 28 x 3mm Rubber Strip, QA 

/ T5 8

11 FS041 M6 x 16mm st/st A2 Hex Head 
Screw 1

12 FN020 M6 Spring Clip Nut 1
13 PS095 Large Leg Cowl 4
14 PS089 Roller Support RH 1
15 PS090 Roller Support LH 1
16 FN001 M6 st/st A4 Nyloc Nut 16
17 MS098 Lock Plate, T5  16
18 FS007 M6 x 25mm st/st Square Neck 

Coach Screw 16
19 PS009 Anti Loss Washer 16
20 PA25 6" x 8" Polythene Bag, 120G 2
21 FN023 M8 x 11.5 Track Nut, Aluminium 

Rack 22

22 FS059 M8 x 25 st/st A2 Socket Head 
Cap Screw 22

23 FT01 6mm Allen Key 1
24 LA038 Printed Label, Kit Box 1

25 FB003 M8 x 65mm  Hex Head Screw 16
26 FN006 M8 st/st A2 Nyloc Nut 16
27 FW002 M8 st/st A2 Washer (Form C) 32
28 FS074 M8 x 20 st/st A2 Socket Head 

Cap Screw 4

29 PS096 Small Leg Cowl 4

Manufactured by Rhino Products Ltd in the United Kingdom

"T5" 8 Leg Fitting Kit, Aluminium RackT54A_l ( 2 of 6 )



Manufactured by Rhino Products Ltd in the United Kingdom

"T5" 8 Leg Fitting Kit, Aluminium RackT54A_l ( 3 of 6 )

1. 2.

4. 5.3.



X4

X4

Manufactured by Rhino Products Ltd in the United Kingdom

"T5" 8 Leg Fitting Kit, Aluminium RackT54A_l ( 4 of 6 )

6. 7. 8.

9. 10. 11.



M8x20

Manufactured by Rhino Products Ltd in the United Kingdom

"T5" 8 Leg Fitting Kit, Aluminium RackT54A_l ( 5 of 6 )

12. 13. 14.

15. 16. 17.



Manufactured by Rhino Products Ltd in the United Kingdom

"T5" 8 Leg Fitting Kit, Aluminium RackT54A_l ( 6 of 6 )


	Sheet1
	Drawing View1

	Sheet2
	Drawing View26
	Drawing View27
	Drawing View29
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41

	Sheet3
	Drawing View10
	Drawing View11
	Drawing View25
	Drawing View32

	Sheet4
	Sheet5
	Sheet6
	Sheet7

